## **Program-Specific Tuition Rates**

## Concordia University Chicago - Fall 2023 thru Summer 2024

Dun man an	Total Cr		redit Tution		Technology I	ee	One Time	Total Tuition and			
Program	Degree Level	Hours	Per Credit Hour	Total	Per Credit Hour	Total	Graduation Fee	Fees			
(Online Associate and Bachelor Degrees)											
Organizational Management	Associate	64	\$505	\$32,320	\$18	\$1,152	\$150	\$33,622			
Health Care Management	Bachelor	120	\$505	\$60,600	\$18	\$2,160	\$150	\$62,910			
Human Resource Management	Bachelor	120	\$505	\$60,600	\$18	\$2,160	\$150	\$62,910			
Kinesiology	Bachelor	120	\$440	\$52,800	\$18	\$2,160	\$150	\$55,110			
Organizational Management	Bachelor	120	\$505	\$60,600	\$18	\$2,160	\$150	\$62,910			
Sports and Recreation Management	Bachelor	120	\$505	\$60,600	\$18	\$2,160	\$150	\$62,910			
Program	Degree Level	Total Credit Hours	Tution Per Credit Hour	Total	Technology   Per Credit Hour	ee Total	One Time Graduation Fee	Total Tuition and Fees			
(Face-to-face Bachelor Degrees)											
Various programs (part-time)	Bachelor	120	\$1,068	\$128,160	\$18	\$2,160	\$150	\$130,470			
Various programs (full-time)	Bachelor	120	\$978	\$117,360	\$18	\$2,160	\$150	\$119,670			
Program	Degree Level	Total Credit Hours	Tution Per Credit Hour	Total	Technology   Per Credit Hour	ee Total	One Time Graduation Fee	Total Tuition and Fees			
		(Graduate Certi	ficates and Grad	uate Degre	es)						
Accounting	Master	60	\$710	\$42,600	\$18	\$1,080	\$150	\$43,830			
Accounting	Certificate	24	\$710	\$17,040	\$18	\$432	\$150	\$17,622			
		30	\$575	\$17,250	\$18	\$540	\$150	\$17,940			
Applied Exercise Science (Fitness & Health Promotion Concentration)	Master	30									
• •	Certificate	12	\$575	\$6,900	\$18	\$216	\$150	\$7,266			

Program	Degree Level	Total Credit	Tution		Technology	Fee	One Time	Total Tuition and
Fiograffi	Degree Level	Hours	Per Credit Hour	Total	Per Credit Hour	Total	Graduation Fee	Fees
Applied Exercise Science (Human Movement Science Concentration)	Certificate	12	\$575	\$6,900	\$18	\$216	\$150	\$7,266
Applied Exercise Science (Sports Nutrition Centration)	Master	30	\$575	\$17,250	\$18	\$540	\$150	\$17,940
Applied Exercise Science (Sports Nutrition Centration)	Certificate	15	\$575	\$8,625	\$18	\$270	\$150	\$9,045
Applied Exercise Science (Sports Performance & Training Concentration)	Master	30	\$575	\$17,250	\$18	\$540	\$150	\$17,940
Applied Exercise Science (Sports Performance & Training Concentration)	Certificate	12	\$575	\$6,900	\$18	\$216	\$150	\$7,266
Applied Exercise Science (Strength & Conditioning Concentration)	Master	30	\$575	\$17,250	\$18	\$540	\$150	\$17,940
Applied Exercise Science (Strength & Conditioning Concentration)	Certificate	12	\$575	\$6,900	\$18	\$216	\$150	\$7,266
Blended & Online Teaching for Pre-K-12 Educators	Master	30	\$460	\$13,800	\$18	\$540	\$150	\$14,490
Chief School Business Official	Master	42	\$710	\$29,820	\$18	\$756	\$150	\$30,726
Chief School Business Official	Certificate	24	\$535	\$12,840	\$18	\$432	\$150	\$13,422
Christian Education	Master	33	\$635	\$20,955	\$18	\$594	\$150	\$21,699
Church Music	Master	33	\$635	\$20,955	\$18	\$594	\$150	\$21,699
Church/Not-for-profit	Certificate	12	\$710	\$8,520	\$18	\$216	\$150	\$8,886
Clinical Mental Health Counseling	Master	60	\$535	\$32,100	\$18	\$1,080	\$150	\$33,330
Computer Science	Master	36	\$710	\$25,560	\$18	\$648	\$150	\$26,358
Curriculum & Instruction	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Curriculum & Instruction w/ ESL & Bilingual Endorsement	Master	33	\$505	\$16,665	\$18	\$594	\$150	\$17,409
Curriculum & Instruction w/ ESL Endorsement	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Cybersecurity Governance	Master	12	\$710	\$8,520	\$18	\$216	\$150	\$8,886
Cybersecurity Governance	Certificate	12	\$710	\$8,520	\$18	\$216	\$150	\$8,886
Deaconess	Certificate	15	\$635	\$9,525	\$18	\$270	\$150	\$9,945
Differentiated Instruction	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Digital Marketing	Master	48	\$710	\$34,080	\$18	\$864	\$150	\$35,094
Digital Marketing	Certificate	12	\$710	\$8,520	\$18	\$216	\$150	\$8,886
Early Childhood Education	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840

Duo suo su	Danua I aval	Total Credit	Tution		Technology	Fee	One Time	Total Tuition and
Program	Degree Level	Hours	Per Credit Hour	Total	Per Credit Hour	Total	Graduation Fee	Fees
Early Childhood Special Education	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Early Childhood Special Education	Certificate	12	\$505	\$6,060	\$18	\$216	\$150	\$6,426
Education Studies	Master	30	\$510	\$15,300	\$18	\$540	\$150	\$15,990
Education Technology: Curriculum & Instruction	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Education Technology: Leadership	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Educational Administration	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Educational Technology	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Elementary Education	Master	48	\$510	\$24,480	\$18	\$864	\$150	\$25,494
English as a Second Language	Master	33	\$505	\$16,665	\$18	\$594	\$150	\$17,409
ESL	Certificate	18	\$505	\$9,090	\$18	\$324	\$150	\$9,564
ESL and Bilingual	Certificate	21	\$505	\$10,605	\$18	\$378	\$150	\$11,133
Finance	Master	48	\$710	\$34,080	\$18	\$864	\$150	\$35,094
Finance	Certificate	12	\$710	\$8,520	\$18	\$216	\$150	\$8,886
Gerontology	Master	33	\$575	\$18,975	\$18	\$594	\$150	\$19,719
Gerontology	Certificate	15	\$575	\$8,625	\$18	\$270	\$150	\$9,045
Grant Writing, Mngmnt, & Evaluation	Master	30	\$460	\$13,800	\$18	\$540	\$150	\$14,490
Healthcare	Master	48	\$710	\$34,080	\$18	\$864	\$150	\$35,094
Healthcare Mngmnt	Master	48	\$710	\$34,080	\$18	\$864	\$150	\$35,094
Healthcare Mngmnt	Certificate	12	\$710	\$8,520	\$18	\$216	\$150	\$8,886
Human Service Administration	Master	33	\$460	\$15,180	\$18	\$594	\$150	\$15,924
Human Services	Master	33	\$460	\$15,180	\$18	\$594	\$150	\$15,924
IL Principal Preparation	Master	33	\$535	\$17,655	\$18	\$594	\$150	\$18,399
IL Teacher Leader Endorsement	Master	30	\$535	\$16,050	\$18	\$540	\$150	\$16,740
Instructional Design & Technology	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Leadership & Change Mngmnt	Master	33	\$460	\$15,180	\$18	\$594	\$150	\$15,924
Leadership & Change Mngmnt	Certificate	12	\$460	\$5,520	\$18	\$216	\$150	\$5,886
Leadership Studies (Healthcare Specialization)	Master	33	\$460	\$15,180	\$18	\$594	\$150	\$15,924
Leadership Studies (Higher Education Specialization)	Master	33	\$460	\$15,180	\$18	\$594	\$150	\$15,924
Leadership Studies (Organizational Specialization)	Master	33	\$460	\$15,180	\$18	\$594	\$150	\$15,924

Hours   Per Credit Hour   Total   Per Credit Hour   Total   Graduation Fee   Fees	Program	Degree Level	Total Credit	Tution		Technology Fee		One Time	Total Tuition and
Music         Master         33         \$635         \$20,955         \$18         \$594         \$150         \$21,699           Not-for-Profit Mngmnt         Master         48         \$710         \$34,080         \$18         \$864         \$150         \$35,094           OH Principal Licensure - Graduate License         Certificate         30         \$425         \$12,750         \$18         \$540         \$150         \$13,440           OH Reading Endorsement - Graduate Endorsement - Graduate Endorsement         15         \$425         \$6,375         \$18         \$270         \$150         \$6,795           Endorsement - Graduate Licensure - Graduate Licensure - Graduate Endorsement         Certificate         15         \$469         \$7,035         \$18         \$270         \$150         \$7,455           Understand Figure - Graduate Endorsement         Certificate         12         \$425         \$5,100         \$18         \$216         \$150         \$5,466           Parish Music         Certificate         36         \$635         \$22,860         \$18         \$648         \$150         \$23,658           Piano Pedagogy         Certificate         15         \$635         \$9,525         \$18         \$270         \$150         \$9,945           Principal	Program	Degree Level	Hours	Per Credit Hour	Total	Per Credit Hour	Total	Graduation Fee	Fees
Not-for-Profit Mngmnt         Master         48         \$710         \$34,080         \$18         \$864         \$150         \$35,094           OH Principal Licensure - Graduate License         Certificate         30         \$425         \$12,750         \$18         \$540         \$150         \$13,440           OH Reading Endorsement - Graduate Endorsement         Certificate         15         \$425         \$6,375         \$18         \$270         \$150         \$6,795           Endorsement - Graduate Licensure - Graduate Endorsement         15         \$469         \$7,035         \$18         \$270         \$150         \$7,455           Ulcense         12         \$425         \$5,100         \$18         \$216         \$150         \$5,466           Endorsement - Graduate Endorsement         12         \$425         \$5,100         \$18         \$216         \$150         \$5,466           Parish Music         Certificate         36         \$635         \$22,860         \$18         \$648         \$150         \$23,658           Pino Pedagogy         Certificate         15         \$635         \$9,525         \$18         \$270         \$150         \$18,399 </td <td>Master of Business Administration</td> <td>Master</td> <td>36</td> <td>\$710</td> <td>\$25,560</td> <td>\$18</td> <td>\$648</td> <td>\$150</td> <td>\$26,358</td>	Master of Business Administration	Master	36	\$710	\$25,560	\$18	\$648	\$150	\$26,358
OH Principal Licensure - Graduate License         Certificate         30         \$425         \$12,750         \$18         \$540         \$150         \$13,440           OH Reading Endorsement - Graduate Endorsement         Certificate         15         \$425         \$6,375         \$18         \$270         \$150         \$6,795           Endorsement         OH Superintendent Licensure - Graduate Endorsement         15         \$469         \$7,035         \$18         \$270         \$150         \$7,455           Ucensure - Graduate Endorsement         12         \$425         \$5,100         \$18         \$216         \$150         \$5,466           Parish Music         Certificate         36         \$635         \$22,860         \$18         \$648         \$150         \$23,658           Piano Pedagogy         Certificate         15         \$635         \$9,525         \$18         \$270         \$150         \$9,945           Principal Preparation - Graduate Endorsement         20         20         \$17,655         \$18         \$594         \$150         \$18,399           Endorsement         20         20         20         20         \$18         \$864         \$150	Music	Master	33	\$635	\$20,955	\$18	\$594	\$150	\$21,699
OH Reading Endorsement - Graduate Endorsement         Certificate         15         \$425         \$6,375         \$18         \$270         \$150         \$6,795           Endorsement         OH Superintendent Licensure - Graduate Licensure - Graduate License         Certificate         15         \$469         \$7,035         \$18         \$270         \$150         \$7,455           Uicense         OH Teacher Leadership Post-Master's Endorsement         Certificate         12         \$425         \$5,100         \$18         \$216         \$150         \$5,466           Parish Music         Certificate         36         \$635         \$22,860         \$18         \$648         \$150         \$23,658           Piano Pedagogy         Certificate         15         \$635         \$9,525         \$18         \$270         \$150         \$9,945           Principal Preparation - Graduate Endorsement         20         \$17,655         \$18         \$594         \$150         \$18,399           Endorsement         48         \$505         \$24,240         \$18         \$864         \$150         \$25,254           Service Personnal K-12 - Graduate Endorsement         20         \$25,254         \$25,254         \$25,254         \$25,254	Not-for-Profit Mngmnt	Master	48	\$710	\$34,080	\$18	\$864	\$150	\$35,094
Endorsement	OH Principal Licensure - Graduate License	Certificate	30	\$425	\$12,750	\$18	\$540	\$150	\$13,440
Certificate   12   \$425   \$5,100   \$18   \$216   \$150   \$5,466     Parish Music   Certificate   15   \$635   \$9,525   \$18   \$270   \$150   \$18,399     Principal Preparation - Graduate   Certificate   33   \$535   \$17,655   \$18   \$594   \$150   \$218,399     Endorsement   Professional Educator's License: School   Service Personnal K-12 - Graduate   Endorsement   Service Personnal K-12 - Graduate   Endorsement   Service Personnal K-12 - Graduate   Service Personna	· ·	Certificate	15	\$425	\$6,375	\$18	\$270	\$150	\$6,795
Parish Music   Certificate   36   \$635   \$22,860   \$18   \$648   \$150   \$23,658     Piano Pedagogy   Certificate   15   \$635   \$9,525   \$18   \$270   \$150   \$9,945     Principal Preparation - Graduate   Certificate   33   \$535   \$17,655   \$18   \$594   \$150   \$18,399     Endorsement   Professional Educator's License: School   Service Personnal K-12 - Graduate   Endorsement   Endorsement   Psychology   Master   33   \$635   \$20,955   \$18   \$594   \$150   \$21,699     Professional Educator's License: School   \$21,699   \$21,699   \$21,699     Professional Educator's License: School   \$21,699   \$21,699   \$21,699     Professional Educator's License: School   \$21,699   \$21,699   \$21,699   \$21,699   \$21,699   \$21,699   \$21,699   \$21,699   \$22,695   \$22,860	•	Certificate	15	\$469	\$7,035	\$18	\$270	\$150	\$7,455
Piano Pedagogy         Certificate         15         \$635         \$9,525         \$18         \$270         \$150         \$9,945           Principal Preparation - Graduate Endorsement         Certificate         33         \$535         \$17,655         \$18         \$594         \$150         \$18,399           Professional Educator's License: School Service Personnal K-12 - Graduate Endorsement         Certificate         48         \$505         \$24,240         \$18         \$864         \$150         \$25,254           Psychology         Master         33         \$635         \$20,955         \$18         \$594         \$150         \$21,699	-	Certificate	12	\$425	\$5,100	\$18	\$216	\$150	\$5,466
Principal Preparation - Graduate Endorsement         Certificate         33         \$535         \$17,655         \$18         \$594         \$150         \$18,399           Professional Educator's License: School Service Personnal K-12 - Graduate Endorsement         Certificate         48         \$505         \$24,240         \$18         \$864         \$150         \$25,254           Psychology         Master         33         \$635         \$20,955         \$18         \$594         \$150         \$21,699	Parish Music	Certificate	36	\$635	\$22,860	\$18	\$648	\$150	\$23,658
Endorsement  Professional Educator's License: School Service Personnal K-12 - Graduate Endorsement  Psychology  Master  Service Personnal K-12 - Graduate Endorsement  Master  Service Personnal K-12 - Graduate Endorsement  Service Personnal K-12 - Graduate Endo	Piano Pedagogy	Certificate	15	\$635	\$9,525	\$18	\$270	\$150	\$9,945
Service Personnal K-12 - Graduate Endorsement         Service		Certificate	33	\$535	\$17,655	\$18	\$594	\$150	\$18,399
	Service Personnal K-12 - Graduate	Certificate	48	\$505	\$24,240	\$18	\$864	\$150	\$25,254
Positing Education Macter 20 \$500 \$45.000 \$45.000	Psychology	Master	33	\$635	\$20,955	\$18	\$594	\$150	\$21,699
reading Education         ividater         30         \$500         \$15,00         \$18         \$540         \$150         \$15,840	Reading Education	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Religion Master 33 \$460 \$15,180 \$18 \$594 \$150 \$15,924	Religion	Master	33	\$460	\$15,180	\$18	\$594	\$150	\$15,924
School Counseling Master 48 \$505 \$24,240 \$18 \$864 \$150 \$25,254	School Counseling	Master	48	\$505	\$24,240	\$18	\$864	\$150	\$25,254
Special Education Leadership         Master         30         \$505         \$15,150         \$18         \$540         \$150         \$15,840	Special Education Leadership	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Special Education, LBS1         Master         30         \$505         \$15,150         \$18         \$540         \$150         \$15,840	Special Education, LBS1	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Special Education, LBS1         Certificate         18         \$505         \$9,090         \$18         \$324         \$150         \$9,564	Special Education, LBS1	Certificate	18	\$505	\$9,090	\$18	\$324	\$150	\$9,564
Sports Leadership Master 33 \$460 \$15,180 \$18 \$594 \$150 \$15,924	Sports Leadership	Master	33	\$460	\$15,180	\$18	\$594	\$150	\$15,924
Sports Mngmnt         Master         33         \$460         \$15,180         \$18         \$594         \$150         \$15,924	Sports Mngmnt	Master	33	\$460	\$15,180	\$18	\$594	\$150	\$15,924
Sports Mngmnt         Certificate         12         \$460         \$5,520         \$18         \$216         \$150         \$5,886		Certificate	12	\$460	\$5,520	\$18	\$216	\$150	\$5,886
Superintendent KTA         Certificate         30         \$665         \$19,950         \$18         \$540         \$150         \$20,640	Superintendent KTA	Certificate	30	\$665	\$19,950	\$18	\$540	\$150	\$20,640
Teacher Leader KTA Certificate 30 \$535 \$16,050 \$18 \$540 \$150 \$16,740	Teacher Leader KTA	Certificate	30	\$535	\$16,050	\$18	\$540	\$150	\$16,740
Teaching & Learning         Master         30         \$505         \$15,150         \$18         \$540         \$150         \$15,840	Teaching & Learning	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Technology Specialist KTA Certificate 24 \$505 \$12,120 \$18 \$432 \$150 \$12,702	Technology Specialist KTA	Certificate	24	\$505	\$12,120	\$18	\$432	\$150	\$12,702
TESOL Master 30 \$460 \$13,800 \$18 \$540 \$150 \$14,490	TESOL	Master	30		\$13,800	\$18	\$540	\$150	\$14,490
TESOL Certificate 39 \$460 \$17,940 \$18 \$702 \$150 \$18,792	TESOL	Certificate	39	\$460	\$17,940	\$18	\$702	\$150	\$18,792

Program	Degree Level	Total Credit	Tution		Technology I	Fee	One Time	Total Tuition and
Flogram	Degree Level	Hours	Per Credit Hour	Total	Per Credit Hour	Total	Graduation Fee	Fees
Urban Schooling: Policy, Practice, &	Master	30	\$505	\$15,150	\$18	\$540	\$150	\$15,840
Curriculum								